13000 GeV pp Z (Drell-Yan)
c I I I T T 1T | I I I I T T 1T | I I I T T T IJ n
2 - =
L _ o
9?0.06 L PT(Z) ratio (CMS Drell--Yan) _E
4 B 1o
© — m CMS 19
) o _ |
o | --&-- Herwig 7.2.1 default N
N 505 — —a— Pythia 8.308 default —3
1 - ¢ Sherpa 2.2.9 default 15
2 B @
5 F 5
™ 0.04 - A
0.03 |— T —8
o : o
— | —1w©
- ' 18
- <
0.02 — —2
B ks
N
B 1<
B BE=
0.01— — 9
— e
B 1L
B 18
la) B | , | [ I_ E
2 52
= - v —
O B i
2 1 ; 1
. : _
IS B : i
o
0.5 [ 05
1 1 1 1 1 1 1 | E 1 1 1 1 1 1 1 1 1 1 |
10

p_(ellell el



	Contents
	Page 1


